- 0.7
20.09
§0.08
0.07
0.06
0.05
0.04
0.03
0.02
0.0

Efficiency vs P,
o T

ermcie

Ratio

107 1 10 prT (Ge\})o3

[—=— DQM_VUOUI_RUUOU0OOUUL__Global_CMSSW_CKIPUSU__RECO
—e— DQM_V0001_R000000001__Global_CMSSW_mkFitPU50LowPtQuad__RECO
—— DQM_V0001_R000000001__Global_CMSSW_LowptQnoclean_ RECO
—— DQM_V0001_R000000001 _Global__CMSSW looseSC__RECO

= 0.1
4
Z0.09
$0.08
(8]
£0.07
©
0.06
0.05]
0.04
0.03

>

.........................................

.................

0.02
0.0

o sofplill el
R e | LI E

0.8
0.6

|
w

|

|
=

Efficiency vs ¢

£0.05
0
2.045
2
$0.04
(5]
$.035
(9]

0.03

..!.'.'.'.'.!.'.'.'.'.].'.'.'.'{.'.'.'.'{.'.'.'.'{.'.'.'.'

L L UL B = =E S EES s B Y B

|
w

|
N



	Contents
	Page 1


